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Q1. Consider the following statements
containing geological processes:

1. Orogenic process of mountain formation.

2. Epeirogenic processes of elevation
or warping of earth's crust.

3. Plate tectonic movements.

How many of the above given statements
are correct example(s) of ‘Diastrophism’?

(a) Only one

(b) Only two

(c) All three

(d) None

Q2. Which of the following changes occurred
after the revolt of 18577

1. The British crown assumed the direct
responsibility of the country and the rule of
East India Company came to an end.

2. The Board of Control (established under
the 1784 Pitt’s India Act) was abolished. A
new ministry was created known as ‘India
House’, headed by the Secretary of State for
India who was a minister of cabinet rank.

3. The number of Indian soldiers was
drasticAlly increased in the army.

How many of the statements given above
are correct?

(a) Only one

(b) Only two

(c) Only three

(d) None

Q3. Consider the following statements about

National Emergency

1. It is imposed to restore the breakdown of
law and order due to any reason.

2. It affects only Fundamental Rights.

3. It suspends the government and ordinary
law courts.

4. Itis imposed either in the whole country or
in any part of it.
How many of the statements given above
are correct?

(a) Only one

(b) Only two

(c) Only three

(d) ALL

Q4. With reference to the Fuel Cell Technology,

consider the following statements:

1. These cells can operate without emitting
carbon dioxide.

2. These cells convert chemical energy
directly into electrical energy.

3. These cells are capable of using bioethanol
as fuel.
How many of the above statements are
correct?

(a) Only one

(b) Only two

(c) All three

(d) None
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Consider the following statements
regarding the fundamental duties.
Fundamental duties are covered under Art.
51 of Constitution.

There are total of 10 fundamental duties in
the Constitution.

Fundamental duties have been added to the
Constitution on the recommendations of
Swaran Singh Committee.

Voting in elections is a fundamental duty of
every Indian citizen.

How many of the statements given above
are correct?

Only one

Only two

Only three

None

Which of the following subjects are
enumerated in the concurrent list:
Electricity

Acquisition of property

Land

Fisheries

Select the correct answer using the codes

given below:

(a) 1 and 2 only

(b)

1,3 and 4 only

(c) 3 and 4 only

(d)

1,2,and 4

Q7.

(a)
(b)

(d)
Q8.

Consider the following statements
regarding Maharatna status to PSUs

Only PSUs with Navratna status can get
Maharatna status.

Listing on the Indian stock exchange is not
a mandatory requirement to get Maharatna
status.

Oil India Limited is a Maharatna PSU.

How many of the statements given above
are correct?

Only one

Only two

Only three

None

With reference to The International Coral
Reef Initiative (ICRI), consider the
following statements:

It is a formal partnership between Nations
and organizations which strives to
preserve coral reefs.

It was launched at the UN

Conference COP-28.

Climate

Only the members of the United nation
countries are eligible to become members
How many of the statements given above

are correct?

(a) Only one
(b) Only two
(c) All three
(d) None
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With reference to Global River Cities

Alliance, consider the following
statements:

It is an India led Alliance launched by
National Institute Of Hydrology.

Objectives of this Alliance are likely to be
impacted by lack of partnership with
funding agencies.

India , the United Kingdom, France, and
Bangladesh are member countries.

How many of the above given statements

are not correct?

(a) Only one
(b) Only two
(c) All three
(d) None
Q10. With Reference to the report on 'Ethics in

Governance' by the Veerappa Moily
Commission, consider the following
statements:

Elections should be funded by the State.
Disqualification under Anti Defection Law
cases concerning only MPs should be
decided by the President of India.
Disqualification under Anti Defection Law
cases concerning MLAs should be decided
by the Governor of concerned State or
President of India.

How many of the statements given above

are correct?

(a)

Only one

(b) Only two

(c) Only three
(d) None

Q11.

(a)
(b)
(c)
(d)

Q12.

(a)
(b)
(c)
(d)

Consider the following statements about

Black carbon.

It is formed through the incomplete
combustion of fossil fuels.

The particles of black carbon absorb heat
and are extremely short-lived in the
atmosphere in comparison to carbon
dioxide.

It could accelerate the heating of snow, if
deposited on snow.

How many of the statements given above
are correct?

Only one

Only two

Only three

None

With reference to the Sangam age, terms
Panar and Viraliyar are used to refer to
Temple guards

Bull fighters

Singing bards

Charity donors
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Q13. The factors determining the climate of
India are

Latitude

The Himalayan mountain

Distribution of land and water

BN e

Distance from the sea

How many of the statements given above
are correct?

(a) Only one

(b) Only two

(c) Only three

(d) ALL

Q14. With reference to Indian Forest And Wood
Certification = Scheme,
following statements:

consider the

1. Scheme envisages to give market
incentives to areas (Forest divisions
and plantation) that effectively implement
criteria Indian Forest Management
Standard (IFMS).

2. The scheme is governed by the Institute
of Forest Genetics and Tree Breeding.

3. The Certification Scheme is not applicable
in Trees outside Forests.
How many of the statements given above
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Q15. Consider the following statements:
1. They are the smAllest sea turtles of India.
2. An event, known as the arribada, is
exhibited by these species on the Indian
Coast.
3. Trade of these turtles and their products
are banned under CITES Appendix I.

Which of the following species is being
described above?

(a) Green turtles

(b) Hawksbill turtles

(c) Leatherback turtles

(d) Olive Ridley turtles

Q16. Consider the
regarding Lichens
1. They are most common in groundwater.
2. They are absent in wetlands.
Select the correct answers using the codes
given below:
(@) 1only
(b) 2 only
(c) Both are correct
(d) Neither are correct

following  statements

Q17. Consider the following statements
regarding “Hottest Hot Spots”

1. Hottest hot spots appear at least three
times in the top ten listings for each factor
for Biodiversity Spots.

2. There are 10 hottest hot spots in the world.

3. Indo-Burma and Western Ghats/Sri Lanka
features in the “Hottest Hot Spots”.

How many of the above statements are
correct?

(a) Only one

(b) Only two

(c) All three

(d) None
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Q18. During the Constituent Assembly debates
in December 1948, a discussion on this
fundamental right, Dr B R Ambedkar had
said, “If I was asked to name any particular
Article/provision in this Constitution as the
most important — an Article without
which this Constitution would be a nullity
— I could not refer to any other Article
except this one. It is the very soul of the
Constitution and the very heart of it...”

The paragraph given above describes
which article/provision of the
Constitution?

(a) Article 14

(b) Article 21

(c) Article 19

(d) Article 32

Q19. In the context of economics, the term

‘forfeitures’ refers to:

(a) Government claims over the property
where owners die without any legal heirs.

(b) Penalties imposed by judicial bodies for
non-compliance of contracts.

(c) Services provided by the government
bodies for emergencies.

(d) Additional interest paid for defaulting any

timely interest payment.

Q20. Which of the following statements are
correct about the Ijara system in medieval
India:

1. It was a system of revenue farming.
2. It involved leasing out land to the highest
bidder who paid a fixed sum to the state.
3. It was not practiced in jagir lands.
How many of the statements given above are
correct?
(a) Only one
(b) Only two
(c) Only three
(d) None

Q21. When the Reserve Bank of India buy back
government securities from the open
market, which of the following is likely to
happen?

(a) GDP tends to decrease
(b) Liquidity in the market contracts
(c) There is a probability of rise in inflation

(d) None of the above

Q22. Which of the following national park is
unique in having northernmost lowland
evergreen rainforests in the world?

(a) KeibulLamjao National Park
(b) Bhitarkanika National Park

(c) Keoladeo Ghana National Park
(d) Namdapha National Park
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Q23. Which among the following are the reasons
behind the absence of Tsunami in deep
parts of ocean?

1. Length of Tsunami waves in deep sea is

more.
2. Height of Tsunami waves in deep sea is less.
3. Length of Tsunami waves in deep sea is less.
4. Height of Tsunami waves in deep see is
more.
Select the correct answer using the codes given
below:

(a) Only 1 and 3

(b) Only 1 and 2

(c) Only 2 and 3

(d) Only 1 and 4

Q24. With reference to ‘Bima Trinity’ recently
seen in news, which of the following
statement is correct:

(a) It is a trinity of Islands that have emerged
in the sea of Japan.

(b) It is the trinity of forces formed by three
commands of Indian forces.

(c) It is Insurance for All by 2047 aims to
provide every citizen with an appropriate
life, health and property insurance cover.

(d) It is the trinity of Jan dhan, Aadhaar and
Mobile for fast and secure governance in
the country.

Q25. Consider the following:

1. Fiscal services

2. Interestreceipts
3. Dividends & Profits
4. Social Services
How many of the above are included in non
tax revenue receipt composition?
(a) Only one
(b) Only two
(c) Only three
(d) All four
Q26. Which of the following schemes has an
impact on women empowerment?
ICDS
ASIDE
Swadhar

Bw e

Ujjawala
Select the correct answer using the codes
given below:
(a) 1, 2 and 3 only
(b) 1,3 and 4 only
(c) 2,3 and 4 only
(d)1,2,3and 4
Q27. In which one among the following
countries, power 1is shared between
different linguistic groups in the form of
‘Community Government’?
(a) SriLanka
(b) Bangladesh
(c) Belgium
(d) Canada
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Q28. Consider the following rights:

1. Prohibition of traffic in human beings and
forced labour

2. Abolition of Untouchability

3. Right to life and personal liberty

4. Prohibition of employment of children in
hazardous jobs
How many of the above-mentioned rights
are part of Fundamental Right against
Exploitation in the Indian Constitution?

(a) Only one

(b) Only two

(c) Only three

(d) All four

(e)

Q29. With reference to the Monoclonal

Antibodies, consider the following
statements:

1. These are laboratory-made proteins that
mimic antibodies produced by the immune
system.

2. ‘m102.4’ is a monoclonal antibody that
neutralizes Dengue viruses.

3. These antibodies can be designed to target
a particular disease.

4. These antibodies are made using
recombinant DNA technology.

How many of the above statements are
correct?

(a) Only one

(b) Only two
(c) Only three
(d) All four

Q30. With reference to stabilization functions in

the economy, consider the following
statements:

1. It aims to control demand through
government interventions.

2. It is essential to correct fluctuations in
income and employment.

3. It can lead to a ban on exports to meet
domestic demands.
How many of the statements given above
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Q31. How can fAlling rupee fuel domestic

inflation?
1. Increasing the cost of imported raw
material

2. Increasing the demand for domestic goods
Which of the above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) None
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Q32. In the context of finance, the term
‘arbitrage’ refers to:

(a) buying/selling shares of a company on the
basis of price sensitive unpublished
information.

(b) a company purchases its own share from
shareholders.

(c) the simultaneous purchase and sale of an
asset in different markets to exploit the
differences in their prices.

(d) purchasing a commodity/security with an
intention to sell in near future at a higher
price to make profit.

Q33. Consider the following statements about
Chinese Pangolin:

1. Itisfound only in India and Southern China.

2. Itisincluded in Schedule IV of the Wildlife
Protection Act 1972.

3. It has the appearance of a scaly anteater.
How many of the statements given above
are correct?

(a) Only one

(b) Only two

(c) Only three

(d) None

Q34. With reference to the Hypervelocity
Expansion Tunnel Test Facility, consider
the following statements:

1. It is an indigenously designed tunnel
facility capable of generating flight speeds
between 3-10 km/s.

2. The facility can work without a free piston
driver and compression tube for
generating and sustaining the hypersonic
flow.

Which of the statements given above is/are
correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2
Q35. Consider the statements

regarding the

Dialogue (IPRD):
1. It is the annual apex-level international

following

Indo-Pacific  Regional

conference of the Indian Navy.

2. It focused on the Trade, Connectivity and
Maritime Transport pillar of the Indo-
Pacific Oceans Initiative (IPOI).

Which of the statements given above is/are
correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Q36. Which among the following historical
movements was also known as the
‘Vandemataram Movement’ in  deltaic

Andhra region?

(a) Swadeshi movement

(b) Non Cooperation Movement

(c) Civil Disobedience Movement

(d) Temple Entry Movement
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Q37. According to the Constitution, the Chief
Justice of High Court is appointed by the
President in consultation with

Chief Justice of India

Governor of State

Chief Minister of State

s W=

Leader of opposition of Legislative
Assembly
Select the code from following:

(a)1 only

(b) 1 and 2

(c)1,2and 3

(d) All of the above

Q38. Regarding Champaran Satyagraha
1. Peasants were forced to grow indigo on
3/10 of the total land under Tinkathia
system.
2. Raj Kumar Shukla requested Mahatma
Gandhi to look into the problem.
3. Gandhi used Non-Cooperation to solve the
matter.
How many of the statements given above
are correct?
(a) Only one
(b) Only two
(c) Only three
(d) None
Q39. Consider the following pairs:

Tiger Reserve: River flowing through the

Reserves

1. Kawal Tiger Reserve Godavari
2. Valmiki Tiger Reserve : Tista
3. Satpura Tiger Reserve : Tapi

How many of the above given pairs are
correctly matched?

(a) Only one

(b) Only two

(c) All three

(d) Non

(e)

Q40. With reference to the administration
during Sher Shah Suri, consider the
following statements:

1. He divided his empire into Shiqq, which in
turn was divided into Pargana.

2. During his reign, civil and criminal cases
were tried by the shiqqdar.

3. He established army cantonment in various
regions of the Empire and a strong garrison
was positioned in each of them.

How many of the statements given above
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None
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With reference to Pitt's Act of 1784,
consider the following statements:

It laid down the foundations of Central
administration in India.

It made the Governor General of Bengal as
the Governor General of India.

It gave the British Government supreme
control over the Company's affairs and
administration in India.

How many of the statements given above

are correct?

(a) Only one
(b) Only two
(c) Only three
(d) None

Q42.

Which of the following provisions can be
amended by a simple majority of both the
Houses of the Parliament?

Delimitation of the constituencies.

Extent of the executive power of the Union
and States.

Use of official language.

Elections to the Parliament.

Select the correct answer using the code

given below.

(a) 1 and 2 only
(b) 2 and 4 only
(c) 1, 3 and 4 only
(d)1,2,3and 4

Q43. With reference to the Prevention of Money
Laundering Act, 2002 (PMLA), consider the
following statements:

1. The general principle of presumption of
innocence of the accused is applicable to
PMLA.

2. Offenses under PMLA are cognizable and
bailable.

3. The Directorate of Enforcement is
authorized to investigate offenses under
PMLA.

4. Recently, the Supreme Court has declared
that the provisions relating to attachment
of property involved in money-laundering
are unconstitutional.

Which of the statements given above is/are
correct?

(a) 1, 2 and 3 only

(b) 2 only

(c) 3 only

(d)1, 3 and 4 only
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Q44. With reference to Revenue Deficit,
consider the following statements:

1. It includes only those transactions that
affect current income and expenditure of
government.

2. Itimplies actual loss of revenue.

3. As per the FRBM Act, the government is
required to reduce the revenue deficit to
3% of the GDP.

How many of the statements given above
are correct?

(a) Only one

(b) Only two

(c) Only three

(d) None

Q45. The Tarapore Committee, sometimes seen
in the news, deals with which of the
following?

(a) Boosting merchandise exports from India

(b) Issuance of banking licenses to
large industrial /corporate houses.

(c) Capital Account convertibility

(d) Deepening the Corporate Bond market

Q46. With reference to the sedition law, which of
the following statements is/are incorrect?

(a) It was part of the original Indian Penal
Code enacted in 1860.

(b) Comments without exciting or attempting

to excite hatred will not constitute sedition.

(c) It is a non-bailable offence under the

Section 124A of the Indian Penal Code.
(d) A person charged under this law is
barred from a government job.

Q47. Which of the following statement is
incorrect, with respect to disease causing
microorganisms?

(a) Infection is the invasion and
multiplication of pathogenic microbes in
an individual.
(b) Both protozoa and worms are treated
as parasites.
(c) A virus cannot replicate outside the host
cell.
(d) For a long-term survival a pathogen
must rapidly Kill every host it infects.

Q48. Consider the following pairs:

Tribes in news Associated  States/

Union Territories

Hattee Kerala
Gutti Koya Andhra Pradesh
Hmar Manipur

How many of the above pairs are correctly
matched?

(a) Only one pair

(b) Only two pairs

(c) All three pairs

(d) None of the pairs




IQRA IAS

Q44. tvE = % Tl # fmfeiaa ot W fomm &t
1. 3o¥ Fad I e A & ST EhR Y adHH
T ST 2 kT T L B
2. T qTeqd TR sht STk T 9 B

3. THIARETTH ST o STTER, TR 1 TSR =1

1 T BT 3G o 3% Tk HH AT ST g
S feu 7u ot § 9 fohaq gt 27
() e TH
@) fabar
(M) e =
() S T
Q45. qrmi wfif, frd el wwrem # @t St 8,
freaferfed & & foreer weifera 272
(F) WA & ATk R i Sgrem &
@) o PN /RN BT T ST e S
TN
() ot T SfterfrerT
() HUNE Sieg ST hT TR HET
Q4:6. T=TETE FA % Had #, Ffaiad § & FiF |1 Fe
Tad §/27
@) @' 1860 # AAtifafia qor wRdt g wfear &
fem e
(W) ST S 1Al 3T SUIT WSehH hT R o
fomm ot 18 fewaforart Terme et Wt S

(M) R g€ wfear it e 124 & q8d I8 Th
A-STHAT STqTe B

() 38 T o qed ST STtk I TLRRT 1o
RERERISIRIN

Q47. it 3t ATk e 3 ey Freferfiad & @

I T I Teld 87

() TorelT Safth § TTStah TATTULAT 3T STTEHATT T TOH &

(@) TSI 3T HiF ST Rl TSt 7T ST 2
(T) Ueh ATRH HISH hITRTehT o STeX STIHT Tfcrenfd &l

T Hehelll
() STEhTTcTeh feed o foTg TR shi 379 5T
Toh{Hd Ye2ieh HsTe ol ST & WRAT 2R
Q48. ffafad i w fo=m =i
HHET H St g T/ T &
=l EZ)
TS T 3T oI
TR HforgE
SIUE 1 | § fohe I HET GATAd 87
(F) HIA T AT
(@) SHad e
EIEIEIS
=) s off ST A&




Q49.

W e

IQRA IAS

Which of the following can be the possible
benefits of greater financial inclusion?
Higher domestic savings

Enhanced investment

Better delivery of welfare schemes

Greater penetration of financial services
How many of the statements given above

are correct?

(a) Only one
(b) Only two
(c) Only three

(d) All
Q50. Consider the following statements:

1. Both Meiosis and Mitosis takes place in the
somatic cells of the body.

2. Unlike mitosis which occurs in both
sexuAlly and asexuAlly reproducing
organisms, meiosis does not occur in both.

3. Asexual reproduction of unicellular

eukaryotic cells involves Meiosis.
How many of the above statements are

correct?

(a) Only one
(b) Only two
(c) All three
(d) None

Q51.

The famous Gandhi-Irwin pact of 1931 was
described as a 'truce' and a 'provisional

statement'. Which of the following

statements is true about the agreement?

Q52. Consider the

(a) The right to make salt for consumption
and sale was accorded to All
coastal villages.

(b) Civil Disobedience Movement
was discontinued after the pact.

(c) The agreement did not mention
anything about the political prisoners
of Civil Disobedience Movement.

(d) The pact was signed by Jawahar Lal
Nehru on behalf of Gandhi ji.

following

regarding the Delhi Proposals, 1927:

1. It demanded to appoint a

committee to enquire upon status of

Muslims.

2. It demanded to make Sind a separate

province.

3. It demanded equal representation of

Muslims as Hindus in the

Legislature.

How many of the statements given above

are correct?
(a) Only one
(b) Only two
(c) Only three
(d) None

statements

special

Central
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Q53. The 1938 Haripura Congress session is
considered a landmark because?
(a) The National Planning Committee was
set up under Jawahar Lal Nehru.
(b) The movements in Princely States
received the support from the Congress.
(c) Congress adopted a socialistic pattern
of development as the goal of the party.
(d) Subhas Chandra Bose defeated
Gandhi’s candidate Pattabhi Sitaramayya
in the Congress elections.
Q54. The ‘State of Finance for Nature’ Report, is
released by:
(a) Ministry of Environment, Forest and
Climate Change
(b) Clean and Clean Air Coalition
(c) United Nations Environment Programme

(d) NITI Aayog

Q55. With reference to ‘Global Liveability Index

2023’, consider the following statements:

1. Itis released by UN-Habitat.

2. Copenhagen (Denmark) tops the rankings
for 2023.

3. Damascus (Syria) and Tripoli (Libya) are
still at the bottom of the list.
How many of the above statements are
correct?

(a) Only one

(b) Only two

(c) All three
(d) None
Q56. The term ‘PROJECT WAVE’ is talked about

in the context of:

(a) a project launched by google for
monitoring fraud transactions in banking.

(b) a project by the World Bank
for reinstAllation of technology in
the banking sector.

(c) a project by the International
Monetary Fund for providing funds
in a financial crisis situation

(d)a project for digitisation in an Indian bank.

Q57. Which one of the following statements best
reflects the chief purpose of the 'Phillips
Curve’ in an economy?

(a) It denotes the relationship between
poverty and unemployment.
(b) It denotes the relationship
between inflation and unemployment.
(c) It denotes the relationship between
tax collection and government expenditure.
(d) Itdenotes the relationship between
GDP and GDP Deflator.
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Q58. Pradhan Mantri Rashtriya Bal Puraskar

(PMRBP) is given to children with
exceptional abilities and outstanding
achievements. With reference to the

PMRBP, consider the following statements:

1. These awards are given to the children
aged from 5 to 14 years only.

2. These are given in seven categories for
Bravery, Art and Culture, Environment,
Innovation, Science & Technology, Social
Service and Sports.

3. These are conferred as a part of the
Republic Day celebrations by the President
of India.

How many of the statements given above
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Q59. With reference to Messenger RNA (mRNA),
consider the following statements:

1. It is created through a DNA transcription
process.

2. Its role is to transfer genetic information
from the DNA to the ribosomes of the cell.
Which of the statements given above is/are
correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Q60. The term “off budget borrowing” is often
seen in news in relation to presentation of
government budgets. Which of the

following statements regarding off budget
borrowings is incorrect?

(@) It is excluded from fiscal

calculations.

(b) The interest payments on such
borrowing are made from the
Consolidated Fund of India.

(c) These are borrowings directly taken by
the Government of India.

deficit

(d) These are raised from market by
issuing Government of India
fully serviceable bonds.

Q61. Consider the following statements about a

Hydrogen Bomb (H Bomb):

1. It involves the mechanism of both fission
and fusion.

2. Itis cAlled H Bomb because it involves the
fusion of hydrogen atoms.

3. Itis more powerful than an Atom Bomb.

4. It can be made in smAll sizes making it
adequate for missiles.
How many of the above statements are
correct?

(a) Only one

(b) Only two

(c) All three

(d) ALL
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Q64. Consider the following:

Q62. Consider the following statements about
the IIP (Index of Industrial Production):

1. Itis anindex which shows the growth rates
in different industry groups of the economy
in a stipulated period of time.

2. It is released every two months by the
Central Statistical Office (CSO).

Which of the statements given above is/are
correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Q63. With reference to the Ramjet Technology,
consider the following statements:

1. It uses the forward motion of a vehicle to
compress incoming air for propulsion
mechanisms.

2. It operates when the vehicle is traveling at
supersonic speeds.

3. It has been used in manufacturing of the
Brahmos missiles.

How many of the above statements are
correct?

(a) Only one

(b) Only two

(c) All three

(d) None

1.

Budding

. Fragmentation

2
3.
4

Self-pollination

. Spore formation

How many of the above are asexual

reproductions in the plants?

(a) Only one
(b) Only two
(c) Only three
(d) All four

Q65. The term, ‘Nano Priming’ is associated with

which one of the following?

(a) Biodegradable plastic

(b) Medical imaging test

(c) Seed germination

(d) Semiconductors manufacturing
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Q66. With regard to Fundamental Rights as

enshrined in the Indian Constitution,
consider the following statements:

1. Right against discrimination on ground of
religion, race, caste, sex or place of birth.

2. Equality before law and equal protection of
law.

3. Right to elementary education.

4. Freedom of speech and expression.

5. Freedom to manage religious affairs.
Which of the fundamental rights given
above are available to both citizens of India
and foreigners?

(@) 1,2 and 5 only

(b) 2, 3 and 5 only

(c)1, 2,3 and 5 only

(d) 1, 2,4 and 5 only

Q67. With regard to elections for local bodies,

consider following statements:

1. All the elections to rural and urban local
bodies are compulsorily held on party lines.

2. State Election Commissioner is appointed
and removed by the Governor.

3. Seats are reserved for SCs, STs and Other
Backward Castes in local bodies based on
the proportion of their population.

How many of the above statements are
correct?

(a) Only one

(b) Only two

(c) All three
(d) None

Q68. With reference to the position of the 'Chief

Wildlife Warden', consider the following
statements:

1. Itis a statutory position created under the
Wildlife (Protection) Act, 1972.

2. There is a Chief Wildlife Warden
designated for each protected area in a
state.

3. She/he can permit the hunting of a
Schedule I animal in her/his jurisdiction.
How many of the above statements are
correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Q69. What is the ‘Agaba process’, which was

recently seen in the news?

(a) Climate neutrality arrangement between
UAE and USA.

(b) Denuclearisation of Arabian Peninsula.

(c) To enhance global coordination and
cooperation to counter-terrorism.

(d) Peace process in the Palestinian region

initiated by the Arab countries.
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Q70. With reference to poverty, consider the
following statements:

1. Deprivation from the basic amenities as per
national standards is regarded as relative
poverty.

2. Poverty which is expressed in relation to
the level of income with sections of society

is regarded as Absolute Poverty.

Which of the statements given above is/are
correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Q71. Which one of the following statements is
correct about the India-U.S. Defense
Acceleration Ecosystem (INDUS-X)?

(a) Itis ajointinitiative of the U.S. Department
of Defense and the Indian Ministry of
External Affairs.

(b) Itis a platform to connect defense start-ups
under the U.S.-India initiative on Critical
and Emerging Technology (iCET).

(c) It facilitates technology transfer and joint
production of defense equipment

bilaterAlly.

(d) It is a research and development program

to enhance maritime security and domain

awareness in the Indo-Pacific region.

Q72. Which of the following is/are the objectives

of having Universal Adult Franchise?

1. To enhance the self-respect and prestige
of the common people

2. To uphold the principle of equality

3. To ensure a responsible government
How many of the above statements are
correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Q73. Consider the following statements:

1. Unlike Primary Metabolites, which are
directly involved in growth, development
and reproduction of an organism,

Secondary Metabolites do not.

2. Steroids are the primary metabolites.

3. The Primary metabolites and secondary
metabolites are produced during the
growth phase of the cell.

How many of the above statements are

correct?

(a) Only one

(b) Only two

(c) All three

(d) None
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Q74. Consider the following statements:

1. The highest number of polluted river
stretches in the country are found in
Maharashtra.

2. Higher Biochemical Oxygen Demand (BOD)
indicates higher quality of water.

3. Lack of effluent treatment plants is one of
the major causes for pollution in the rivers.

How many of the statements given above are
correct?

(a) Only one

(b) Only two

(c) All three

(d) None.

Q75. Consider the following statements with

reference to Sonneratia alba which was
recently seen in news:

1. It is one of the pioneering species of a
mangrove.

2. Maharashtra has declared it as the official
state mangrove tree.

3. Tamil Nadu was the first coastal state in
India to declare any Mangrove species as
the state mangrove tree.

How many of the statements given above are
correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Q76. Which of the following services are

accounted in the Gross Domestic Product of
a country?
1. Services rendered by a domestic help

2. Services rendered by a worker from
unorganized sector

3. Services produced in Indian embassies
located abroad

4. Services produced in military
establishments located abroad

How many of the statements given above are
correct?

(a) Only one

(b) Only two

(c) All three

(d) All four

Q77. With reference to the United Nations

Human Rights Council, consider the
following statements:

1. Itis an intergovernmental body within the
United Nations that meets at the United
Nations Office at Geneva (UNOG).

2. Its members are elected by the General
Assembly and can not be re-elected.

3. It mandates the promotion and protection
of All human rights for All people.

How many of the above statements are
correct?

(a) Only one

(b) Only two

(c) All three

(d) None
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Q78. With reference to the Inter-Parliamentary
Union (IPU), consider the following
statements:

1. It is a global organization of national
parliaments established in 1889.

2. Ithasits headquarters in New York, United
States of America.

3. India and China are not the members of the
union.
How many of the statements given above

are correct?
(a) Only one
(b) Only two
(c) All three
(d) None.

Q79. Which of the following statements is
correct about the Ryotwari System
introduced by Alexander Read in 17927

(a) It was a system where the state made
settlements with the village community or
the taluqdar and each fiscal unit was cAlled
a mahal.

(b) It was a system where the state collected
revenue from cultivators or ryots

individuAlly and established them as
property owners.

(c) It was a system where intermediaries

between the state and the cultivator were

appointed as zamindars.

(d) It was a system where the state collected
revenue from the zamindars who were the
proprietors of land and had the right to
sublet their lands.

Q80. Use of which of the following chemicals is
prohibited by the Supreme Court in India to
be used in manufacture of firecrackers?

Antimony
Lithium
Phosphorous
Manganese
Potassium

s w0 N

Select the correct answer using codes
below:

a) 1and 4 Only

b) 1,2 and 4 Only

c) 1and 2 Only

d) 2,3 and 4 Only

Q81. Which of the following statements is/are

correct about Photo Pollution?

1. It does not inhibit the observation of stars
and planets.

2. It affects the reproductive cycles of some
animals.

3. Excessive red light emitted from LEDs
affect the sleep pattern in human beings.
How many of the statements given above

are correct?
(a) Only one
(b) Only two
(c) All three
(d) None.
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Q82. With reference to Ancient India, in the
northern part of the country, the village
headman was known as the

(a) Gramabhojaka
(b) Agrahara
(c) Dhammsurna

(d) Sentokwara

Q83. With reference to Lorenz Curve, consider
the following statements:

1. Itis a graphical representation of poverty.

2. Itis acumulative percentage of income and
population.

3. Itis used to determine gini coefficient.
How many of the above statements are
correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Q84. Sangam poems mention the term
muvendar. It was used for:
(a) Land Allotted to temples by Kings
(b) Administrative arrangements made
to felicitate scholars of Tamil
(c) Heads of three ruling dynasties of
Southern India

(d) Classical commentary on Vedas

Q85. Which of the following Schedules of the

Constitution can be amended by a simple
majority of the Parliament?

Second Schedule

Fourth Schedule

Fifth Schedule

Seventh Schedule

s oo

Select the correct answer using the code given
below.

(a) 1 and 2 only

(b) 2 and 3 only

(c) 3 and 4 only

(d) 1 and 3 only

Q86. With respect to the National Commission of

Scheduled Castes, consider the following
statements:

1. Itis a non- constitutional body.

2. Its Chairman is appointed by President by
warrant under his hand and seal.

3. It also safeguards the rights of Anglo -
Indian Community.
How many of the statements given above
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None.
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Q87. Consider the following statements:

1. The President of India is not answerable to
any court of law for the exercise of his
functions.

2. The President of India can neither be
arrested nor any criminal proceedings be
instituted against him in any court of law
during his tenure.

3. The President of India cannot be
imprisoned during his term of office.

How many of the statements given above
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Q88. Consider the following rights:

1. Right to maternity relief

2. Right to be protected against domestic
violence

3. Right to live with dignity

4. Right to own and inherit property
How many of the above are Fundamental

Rights available to women in India?
(a) Only one
(b) Only two
(c) Only three
(d) All four
Q89. With reference to the Non Performance
Assets (NPA), consider the following

statements:

1. In respect of agricultural loans, default for
over two short cropping seasons or default
on one long cropping season are
considered as NPAs.

2. In respect of a Term Loan, an advance
where interest and/or instAllment of
principal remains overdue for a period of
more than 90 days is considered as NPA.
Which of the statements given above is/are
correct?

(a) 1 Only

(b) 2 Only

(c) Both 1 and 2

(d) Neither 1 nor 2

Q90. Which of the following best describes "Twin
Balance sheet Problem' often seen in news?

(a) It refers to the deficits faced by public
sector banks and state
governments because of various
farmer's loan waiver schemes.

(b) It is the high fiscal deficit of both Central
and state governments.

(c) Itis a problem due to elimination of
planned and unplanned categorization
of government expenditures.

(d) It is two-fold problems for Indian
economy which deals with
overleveraged companies and

bad-loan- encumbered-banks.
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Q91. Consider the following financial

instruments:

1. Certificates of deposit (CD)
2. Debenture
3. Commercial bill
How many of the above are included in

capital markets?

(a) Only one

(b) Only two

(c) Only three

(d) None

Q92. With reference to the medieval period of

Indian history, consider the following
statements:

1. Land revenue assessment on the basis of
measuring the land under cultivation was
first initiated during the reign of Akbar.

2. Jalaluddin Khilji believed in the ideology
that the state shAll be governed with the
willing support of the subjects.

3. The Tughlags used rubble and lime mortar
in their construction and hence their
architecture has minimal decoration.

How many of the above statements are

correct?
(a) Only one
(b) Only two

(c) All three

(d) None

Q93. Consider the following statements
regarding Global Forest Resources
Assessment 2020:

1. Itwasreleased by the Food and Agriculture
Organization.

2. India reported the maximum employment
in the forestry sector in the world.
Which of the statements given above is/are

correct?
(a) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2
Q94. Consider the following statements:

1. Virtual Currencies do not have the status of
a legal tender in India.

2. Cryptocurrency is a type of highly
centralized virtual currency.
Which of the statements given above is/are

correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Q95. With reference to Fundamental Duties,

which of the following statements is
correctly stated?

(a) They are moral obligations of state to
help promote a spirit of patriotism

(b) They are privileges of few citizens
against the many

(c) They are claims of the citizens against
the State

(d) They are moral obligations of All citizens

to help promote a spirit of patriotism
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Q96. With reference to Truck Farming, consider

the following statements:

1. Itis practiced mostly in the urban areas.

2. It stresses upon logistics and supply chain.

3. Itis both labour and capital intensive.
How many of the statements given above
are correct?

(a) Only one

(b) Only two

(c) Only three

(d) None

Q97. ‘Bab el-Mandeb Strait’, which was in news
recently, connects the:
(a) Red sea and the Mediterranean sea
(b) Black sea and the Caspian sea
(c) Red sea and Gulf of Aden
(d) Black sea and the Gulf of Bothnia

Q98. Which of the following statements is/are
correct regarding Mohiniyattam?

1. Gotipua are trained to perform this dance
in temples and for public entertainment.

2. It belongs to the Lasya style representing
the female form taken by Vishnu to kill
Bhasmasura.

3. It was conceived in 17th century by
Vaishnava poet Siddhendra Yogi
Select the correct answer using the code
given below.

(a) 2 and 3 only

(b) 1 and 2 only

(c) 3 only

(d) 2 only

Q99. Consider the following statements
regarding medical applications of 3D
Bioprinting:

1. 3D bioprinting may be used to construct a
replacement organ using cells from a
patient’s body.

2. It may be used for developing various
physiological environments required in the
processes of drug research and

development.

3. It may be used for producing customized
prescription pills according to the needs of
each patient.

How many of the statements given above
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None.

Q100.Consider  the

following  statements

regarding the heterodox schools of Indian
philosophy.

1. Makkhali Gosala of Lokayata School taught
that the physical body is the only essence of
man and enjoyment of pleasures as the
only object of life.

2. Philosopher Ajita Kesakambalin believed
that everything was predetermined.

Which of the statements given above is/are
correct?

(a) 1 only

(b) 2 only

(c)Both 1 and 2

(d) Neither 1 nor 2




IQRA IAS

Q96. s 1, freferfad oAt W foem
1. SU! Joe TfreRaT STedt & | 2T 2
2. 3o STeead I AT 2Ear W SR 3o @ 2|
3. = 7 3R g ST W T 2
39 | & fohe o g 87
(%) Heel TH
@) fabar

(M) ad o
(¥T) I Tel

Q97. 'a9 STA-T<d TASHETEA, S &TA & | ==t | &,
frferfiaa =t e 2

() T IR T 7T TR

(@) AT AR IR HRTIT TR

(1) AT IR R A&7 i @rEt
(5T) T TR 3R serfam i @t

Q98. uifefieren = eiwr § freafoifad & & 9 °1/3 wgd
wire/d?
1. MegeT 1 A § TR At FHSH o fog
IT T T o fore ifiifera ferar Sirar 21
2. I AT ST © Feiford &, S ST hl AR
foTe sy fereuy g o g &t &9 ot FwhiT E |
3. zaeht uiteheaar 174 srarsdt § dwra i forgs

It 3 ¥ off
i fow 7T e T ITERT ek TR I A

(F) had 2 3R 3
@) *aa 1 3 2
(M a3
(1) haet 2

Q99. 3t Fmfien & fafercer IR % w9 o
frefafiaa sedt o famm =t
1. 3 snfsife st Suam At o IR i hifsrenr
ST SUANT hteh T 377 & famior & foe fomm

ST Tk 2
2. STfer sTgEe I forbrer st wfskametl §

ST fofer=T STRIER aTaTeroT fashfd
& foru forar ST a7 |

3. THHT STANT ek AT ST STagFhdrel &
HTHT SAFfoTd TIRSFRH MR o IcdTa
% fora foRa ST Eeha 2
SR U U FHeHT A F foha Tt €7

() HTATh

(@) e ar

(m

(&) g T,

Q100. IR 29 & foerff fommeri & e o
frrffad et w fomm i
LBRIEICINISIEIRERS N RIICISIERTICIRINED
Wiifereh IR & AT T THAE AR © S gt
TE & Sfta st THAT % 2l

2. areifen SASIAT sheshwaI{ct T HIAAT o1 o e %
ECRERIEGRII
S T TC et | © i A1 /H w7 /27

(%) ket 1

(@) et 2

M 1R 23At

en 132




	CHAYAN
	GS MOCK TEST 2
	INSTRUCTIONS

